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27.sinx +cosx 2

cos X sin x

= 1l-tanx 1-—cotx

sin x + cos x 2 s % Lo
? = sinx cos x
1= cos x T sinx
sin x + cos x 2 — o . 2L MO sy
= sinx cosx cosx sinx
1 - E 1 - smx
cos? x sin® x

I

sinx+cosx cos X —sinx

cos® x

sin x — cos x
sin? x

|

smx+cosx_—s-mx_cosx

sin x — cos? x
sin x —'cos x

Ik

sin x + cos x

sinx — cos x

(sin x -+ cos x)(sin x — cos x)

sinx +cosx 2

sin x — cos x

sinx + cos x = sin.x + cos x

’28 smB+cosB+tanGsm9.%

sin @ + cos § + 2 sm&i-

sm [}
sinf +cosf + = p—

cos?f | sin2f

cos 8 cos =

cos? § + sin? §
cos @

sin 8 +

cos B

ll~=

|-

sinf + ——

sin 8 +

I

cosﬂ_
sin9+secﬂ B

sin = 0+se08;

Cos

sﬂc:,sﬁ + secf 2
cosftanf + sech 2
sec f + cos 0 tan 8

29. Sample answer: sec x = V2

=2 =NE

cobt x
1

_T=\/_

l].
L _v3

cos x
secx = V2

30. ‘Sample answer: tan x = 2
l+tanx _ 9
1+cotx

! sin x
T+ cosx — g

§ o200 cOs X
sin x

cos x + sin &

cos X =9
sinx + cos x

sin x
sinx —
cos x 2

tanx = 2

31. Sample answer: cos x = 0

1 secx
cotx  esex . COSX

1
tan x — % = COS X

sin x
& ¥ _sin.r__
ANx — - = COS X
tanx — tan x = cos x
0 =cosx

gecd + cos @ tan @

sec § + cos f tan 3

sec @ + cosftan @
sec @ + cos f tan @

sec f + cos f tan @

sec f + cos f tan @

secf + cosftan @
secf + cosftan @
sec @ + cos f tan @

secf + cosftan @

=sgect + cos f tan 0

. 1
32. Sample answer: sinx = 3

1+cosx sin x

sin x 1+cosx =4
1+ 2cosx+cos’x sin? x _
sin x(1 + cos x) sinx(l + cosx) 4
1+ 2cosx+cos®x +sinx
sin x(1 + cos x) =4
2+2cosx
sinx(l +cosx) 4
201 +cosx) -
sin x(1 + cosx) 4
2 .
sinx 4
2=4sinx
1 =
E =smx

33. Sample answer: sinx = 1
cos x+25inx—2=0
l—sm +2s8inx—-2=0
0=sin?x—2sinx+1
0 = (sinx — 1)?
O=sinx—1
sinx =1

Il

34, Sample answer: cotx = 1
cscx = sinxtanx + cos x

cscx = sinx e L+ cosx
o szx CDSZI
cagx = colsx cos x
CEE X =
11
sinx = cosz
cos X
sinx 1
cotx =1
35—
35. P00t sec2f—1=0
== 2
(tan 0 l)gar.lnei-i]-.tan&+l) _ (tal’l?‘e n 1) —1=0
tap28 + tanf +1—tan28—1—-1=0
tanf—1=10
tanfd =1
cot @ :E;—e
cot —%
cot =1
36. no [
[-2m 27 scl:y by [—2, 8] scl:1
37. yes
RN SN Wy
[-2m 2 m) scl:§ by [—4, 4] scl:1
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